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FNEIFREEF| = 8,000,000-8,000,000%25% = 6,000,000
SR &R = 6,000,000%100% = 6,000,000
BER D BT = 6,000,000%15% = 900,000
1.2 ERFR1S FE 4258 = (20,000,000+6,000,000)*20% = 5,200,000
Bl 1S FE 4R FR &8 = 20,000,000*20% = 4,000,000
NNEtEISNER 1S PG N0 45 & FE 4R 75258 = 5,200,000-4,000,000 = 1,200,000>900,000
2.1 B RO FRER S = 900,000
345 E FEANFREE = 5,200,000-900,000 = 4,300,000
- [BE

F B EEF) = 8,000,000-8,000,000*25% = 6,000,000
SR &R = 6,000,000%80% = 4,800,000
BERHBCAR = 4,800,000%15% = 720,000
1.2 ERFr1S FE 428 = (20,000,000+4,800,000)*20% = 4,960,000
Bl A Fr 5 FEARF7 5B = 20,000,000%20% = 4,000,000
HNETEI9MF 15 B 1 0 45 85 8 WA RE = 4,960,000-4,000,000 = 960,000>720,000
2. ERROJHEIRER S = 720,000
345 B FEARTREE = 4,960,000-720,000 = 4,240,000

(HEZ]
1L.(B+XAK+H) FrSEMIEE = (1,300 B+200 B+500 & ) *20% =400 &
2. (B+K) IREMITEE = (1,300 E+500 & ) *20% =360 &
3. (&) FI3EATIZE = 1,300 BE*20% = 260 B
A NNEtEISNFR S PTG M4 S FE A TRZE = 400 B3-360 B =40 BB<50 &..... 3K 40 &
5. 05T AR REM & AT 1S P N 45 & FE AR TR 58 = 360 &-260 & =100 &>50 &..... 35 50 &
6. 45 EEMTREE =400 BB-40 B-50 8 =310 8
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